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ull 1rhs S) 

Answerany five qucstions from the followin 

4)1 the dom. of the functien I the 9 find the range of 

the furhe 1ion a1ned eapress it a 

h)roma lunear dem.and curve we have the tolleg servat ions 

111it 

Wrle he onal relaton>h hetweer.illd y 

uppose 1ab ur s the only ariable tactor t production. Calculate the aver.ape 

ar iablet shen as cTaye produtivits lah.ris and wage rate is 6l0 

(dChe ete the fleineunet eon hom eenouy 11 es. then what he 

cpre1hm nett 
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osder the utility Tunctinn Show thal the function is srictly cncave 

alow n ard) lor all values of andi f 1 and ( 

What shape dees the lune ion have lor (r ) 

(d Suose thc demand functon 1s l-b. nd oul price and quantity for which 

ital re enue is 11axmun1, What is the shape of the total revenue curve'? 

22 
( DerIN the pressn for a level curve corresponding to the following functioon 

lence dcterine its shape and curvature 

Sh ihat the folloW ing prduction function in X +( - )lnX ( 

1s homtietic but not hOmogencous ot any degre: 

10x2 20 
Answer any two questions from the following: 

faConstruet an indirect utility function that corresponds to the direct utility function 

X Statc and prove Roy's identity for the given utility function. 

(h manuiaclurer producCs machinCs ner day at a total cOst of 

()0 he demand tune tion for the machine is . 

w'ere I price per machiiic. 

(i) Ind the number of machines that the manufacturer should produce o 

maximize profit. 

(11)A tax 't per machine is imp0sed. 11 the manufacturer adds this tax to its 

Cost and continucs to maximize its profit. show that the price increases 

pproxinmately by!rd of tax. 
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(c) Specify the characteristies of the iabour suppl Iunct udivwlal hd y 11 
the tility tunction detined tor 1 ih ut d P1y 

What 487 here dentes lesure he1 an e111t til 

will be the nature of the .abour suppl tuntini tl tility lungtn hancd 

,4 (d he equilibriunm cndittons for three related markets arc given by 

1P 

NIDhattis nersin. fnd the cyuilihriut Iel cach n1áihet 

(1 Sho ihat a consumer ith the utilits tuncton ( 0 will nave a 

1near ncome-COnsunnption iir\e 

t 
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